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10.  The area of the surface generated by revolving the curve
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13.

14.

If A, B and (' are the undetermined coeflicients of the par-
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17, The sequence {2n — ViAn? — n} % X 2n ¥ m:—\r\
M+ Ry,
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(a) convergent and its sum is 3

n=3
(b) convergent and its sum is 0 —‘_L____ _ \ _ __L,__
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(c) convergent and its sum is

(d) convergent and its sum is z

(e) divergent
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(a) convergent by the Comparison Test M/q_
(b) divergent by the nth-Term Test for Divergence
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(c) divergent by the Ratio Test n 2
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21. T'he series M - { '
na VR 24 V43

(a) converges conditionally

(b) diverges by the Limit Comparison Test with b, — —,
(¢) converges absolutely

(d) diverges by the Ratio Test

(e) diverges by the nth-Term Test for Divergence.
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22, The series S is 3'2 3/. 4")
L =2

':1 Jn+ipn

(a) convergent by the Root Test n _Et.
(b) divergent by the Root Test - gr‘ r\YI -

(c) a series for which the Root Test is inconclusive

(d) a divergent geometric series

(e) a convergent p-series. n—>0D
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24.  The interval of convergencc I and the radius of convergence

R of the series Z (3 1:_ :

2n
) (z — 3)", are given by

) 1=(-6,12), R=9

(b) I=(-3,3),R=3 X Cankr©

—

(c) I=(-6,12], R=6

(@) 1=(-33), R= 6 K condin ©

S e - T
-5 B BT B

//' s divrer—
5,12)

Scanned by CamScanner




Math 102 Term 122 (Final Exam) Page 13 of 14 IMAS'[‘ER]

25.  The Taylor polynomial of order 3 generated by
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27, The coeflicient of 2° in the product of the Maclaurin series

of sinr and 1 is equal to
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28.  For —1 < z < 1, the Maclaurian series generated by
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